Bellwork  Alg 2B  Wednesday, October 18, 2017

1. The number of mosquitos in a certain area was increasing 18% every day. If there were 5000 mosquitos
today find the number of mosquitos in the given amount of time. Round to the nearest whole number.

a) 5days b) 2 weeks c) 6 hours

2. The amount of snow was decreasing 2% each hour. There was 40 inches of snow at 1:00pm. Find the
amount of snow at each given time.

a) 10:00 am the same day b) 2:45 pm the same day

c) 5:25pm the same day d) 6:30 pm the next day

3. In the figure at the right,
what is the value of |g - h|?

4. In the figure at the right,
DA and DC are tangent to

A. 2 the circle with center B at
B. 41 . . A
C. 43 points A and C, respectively. v C
D. 84 If LABC = £« £ ADC, .
E. 86 .
what is the degree feastrc Note: Figure not drawn to scale.
of LADC ?
Note: figure notdrawntoscale.  A. 40 B. 51 C. 129 D. 140 E. 154
B
28
A_~2g° ]

D

5. In the figure above, which of the following ratios has the same value as %?

A BD B. BC c. AD p. 2C
DC AC BD BC

6. In the figure to the right, a circle is tangent to

the sides of equilateral AABC and the radius r B
equals 5. What is the perimeter of AABC?
A.15 /3
B. 3043
C. 30

D. 60

E. 6042
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2. The amount of snow was decreasing 2% each hour. There was 40 inches of snow at 1 OOpm Find the
amount of snow at each given time.
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In the figure at the right, \ 4
what is the value of |g - h|?
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4. In the figure at the right,
DA and DC are tangent to

the circle with center B at ‘é ftvjlfw .
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5. In the figure above, which of the following ratios has the same value a{ ?
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6. In the figure to the right, a circle is tangent to
the sides of equilateral AABC and the radius r B

equals 5. What is the perimeter of AABC?

A.15./3
(B. 3043
C. 30

D. 60

E. 60./2
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